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Note:  Figure to the right indicate full marks of the question..

Q:01(A) E=xplain source of secondary data. 7
Q:01(B) Form a frequency distribution from the following data taking 22 — 25 as one of the 8
classes.

10,17, 15, 22, 11, 16, 19, 24, 29, 18, 25, 26, 32, 14, 17, 20, 23, 27, 30, 12, 15, 18, 24,
36, 18, 15, 21, 28, 33,38, 34, 13, 10, 16, 20, 22, 29, 29, 23, 31

OR
Q:01(A) Explain different. methods of data collection. - 7
Q:01(B) Give the difference between primary data and secondary data. ‘ 8
Q:02(A) Find mean and median from the following frequency distribution. 7

. X 0 1 2 3 4 5 6 7 8
f 25 16 | 36 48 30 |16 {15 | 3 2

Q:02(B) Define : (i) Mean (ii) Median (iii) Mode 8

OR
Q:02(A) Find Qy, Q3 and Z from the following data. 7

X {0-10}10-20)20-30|30-40|40-50|50-60| 60-70 | 70—80
5 9 8§ | 1i 13 10 3 1

=

Q:02(B) Define Standard Deviation with example. ' 8

Q:03(A) Define (i) Union of two Events (ii) Intersection of two Events (iii) Independent Event

~J

Q:03(B) One card is drawn from a pack of 52 playing cards, what is the probability that it is a 8
- (1) Queen (ii} Queen of red colour (iii) Queen of heart
OR
Q:03(A) State and Prove addition theorem of probability for two events. 7

Q:03B) IfP(A)=0.68, P(B)=0.62, P(A NB)= 0.55, Find () P(AUB) (i) P(ANEB)
(i) P(A N B)

@0

(PT0)




Q:04(A) Write properties of poisson distribution.

Q:04(B) For a binomial distribution , mean =6 and Variance = 2 find its parameters and
P(x=1).

OR

Q:04(A) Write properties of Binomial distribution.
Q:04(B) Write properties of Normal distribution.
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